4< Multiply and divide rational numbers

ati

ons:

olve the following Q‘per

a -1.8 + 0.8 =
b. -2x_10
15
C. (3 2|+ (=2
S
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a -15=+-05=
-3
05x/10] -115x10 = [5] -15 = -3
_-15
0)
Therefore, -1.5+ 0.5 = -
b -21x 10
S Ox 10 (- | =2 x 10 _| 20
15 1 15 15
=|-4x8 | o -4 L Lh 1
3x % 3 3
Therefore, -2 x 10 = 31
15
c (+32) + (-2
S 3.2 by-?—-32—"2
5 5 1
= =Bx5+42) |+ +2 |- |17y 1]
5 1 5 2
N7 11 |- |972x41 |- |17
5 2 5x2 10
= 17| 1117
10 10
Therefore,-3.2 | +:2 - 17
5 10
d (-0.5) = (-0.5)
-0.5 1 1
-0.5
Therefore, (-0.5) + (-0.5) =1
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